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40,0002 +252§ %13 1,000
405 THaHF S 3,000 0 3,000
01 MUSEHSY 3,000 0 3,000
=0 & 3,000 0 3,000
OFQIRIME L22ERH L UAZ
0 2y 2279 3,000, 0008 *14] 3,000
MEOIAHE L AR SAAY 130,000 60,000 70,000
MESHHAAY 30,000 30,000 0
401 AEHILRHE 30,000 30,000 0
01 A&l 30,000 30,000 0
=04 30,000 30,000 0
OOt BEANNE AL 22
2,500, 0008 *44] 10,000
OARS 202 BIY a§4 20,000,008 *14] 20,000
ATD FOILRAY (FEO04) 100,000 30,000 70,000
401 ANEHLLHY 100,000 30,000 70,000
01 A&l 100,000 30,000 70,000
=004 100,000 30,000 70,000
OO0IDIE~TYXGHAE 72 T2 H |
30,000, 000! *14! 30,000
OE3X T OINASCR ¥ BEHY|
20,000,000 * 144 20,000
OBIHA2 @ EE&EHl 20,000,002 * 14 20,000
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oustoie X 24 10,000, 00021 * 14! 10,000
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